22/10,/2010 AP 4

Factorisation par facteur commun

Exercice 1| : | ka + kb= k(a + b)|

1. Factorisation de type 1

a. dx 4 xy
b. 4(x +2) + (z + 2)(1 - 3z)
¢ T(x+4)+ (x+4)(1 - 2r)
2. Factorisation de type 2
a. 2% 4+ ay
b, (x+3?2+ (x+3)(1—-x)
c. (2=a)* +(2-x)(1+32)
3. Factorisation de type 3
a. 2ry+ 3z
b. 2{z —4)(1 +x) + 3(xr — 4)
c. flz—2)(1-x)+8(xr-2)
d. Bx(r—1)+ 5(xr - 1)
4. Factorisation de type 4
a. 3z° + 5zr
b. 3(1+ )% +5(1 +x)
c. =2(x—4)°+3(x-4)
5. Factorisation de type 5
a. ry+rx
b. (r—-2)(14+z)+(x-2)

c. hr(fl-x)+ (1—-1x)

[Exercice 2] :|ka — kb= k(a —b)|

1. Factorisation de type 1

a. 5.;:.- — Yy

b. 3(z+2)—-(z+2)(1—-x)

c. 4{z+3)—(xr+3)(1-2x)
2. Factorisation de type 2

a. 2’ -1y

b. (x -3 = (z-3)(1-2x)
c. 2=z -(2-2)(142)
3. Factorisation de type 3
a. Jry - obr
b. 2(z + 4)(1 — x) - 2{z + 4)
c. Hx—=2)1-z)-4(x-2)
d. =3z(x=1)=-2{zx - 1)
4. Factorisation de type 4
a. 5z* - 3z
b. 3(1+ )% - 2(1 + x)
c. —-3(x—4)?-2(xr—4)
5. Factorisation de type 5
a. Iy -1
b. (z —2)(1 —22) — (x - 2)

c. z{l —xz)—(1—x)



